Iﬁ%’;ﬂ i Ly o F e 5 2%‘962 1.:1.
(Section B)
Q. No. 2 (i) 'L
Sclukion:. |
A+l + X ol |
g A+ 2. |
By L-C-M
M+ () 4 x> = 1€ |
ok [t £1) [12. |
(A4 ¢+ A*| = 25
WA 12.

A+l +2% £ =25 |

e (2 ]

L2 (a7 4) #2200 +23) = 25 ()

W4+ 12+ 24w H12 3" 2S¢ “+ 2S¢

55 R = IRU =12 -2l x 2= O

AT =122 - 1 Ut 4 LSH 2K =\ 2= 0

B SH- Al ¢ N 1220

A+ +%-12:0 J

2"+ Y- 2w -l12=0 |

(A3 (w+Y) =0

(A-3) (x44)=0 |

1——3 = L) oV i+l =0

Colhon sek - “igﬁ-q}
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Q. No. 2 (ii)

The relevant question should be answered only in the allotted space and inside the outer mark 2"6"9‘831‘,'78

- 5% B8 «

ou & & 1B A pubting value of y un
) 77 > U
3 SX;L{
- d
5% +5 -=|0 N, y =\ y=|
Y [ 5“:3 £ :J
50*+5 =10y | B £% |
542 10y +5 =0 | g'-fe T
®) =
Sy*-85y-5y +tS=Q
_’U J J
S54(y-1\-5(y-1Y=0 X=O W=0
») T

Solukion set= 90,07 .

U o
(5\;—5)(\4’\\;0 (
\J = =y - ]
5 Or ~l=0.| ﬁa—.’:ﬂsﬂﬂ#%-é‘,—é‘%

Y - e u =
J J
S5y4=85 oh oo
J J .
B sk r e
J 5 \ " o 3
l ~ Monce volue ng’qrwd.L
4= A
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Q. No. 2 (iii)

X+ (ute) = a*

g{., |
|

®T )T 4 (@ + 2 (ron)(e) = af

% +vh o + Y 4 Vel =la®

‘)Ll(_'l_ +m1) (2 mec) A b =@ =D

A- \+m1J B=bwe, g—: e R
ij Toding DiScviminant-
Disce b2 Yac
o :(lmc_)l-—‘-{(l +m")(c,l—a") | ] "
0 = |Um e -4 clla*+ m*a——m"ﬂ ’ %2 Disc i O bec
'®) z L 2 7z l\ |

= Mo’e™- Yc 24 Ua’ Yuke™+ Um’a® | | rooks are equol

. A

O

\
i ¥ 2
2 "L{Cl-\’ 4o +L‘lm a_l |

B e . B [0 18

—

O =Y(-c*+a*+ ¥m=a?) |
% = —c"ta"rmtat

) !
& & + ClT =k a" erLOL?‘ |
T 1 : SR |

Le?e or o) | Hence proved |
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Q. No. 2 (iv)
SO‘ '
éiwfen -
W o I
=
(a) w=_k ~——>(f)
=

AL
8=k

=
E={x5

(p) Tw-3a]

put U=35 in eq (V)
: vV
L1 = 35ﬁ __§®
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Q. No. 2 (v) .
Solution:-

Ve
/ Q = b_ = & -l
\ e AL b z

: V. - m.e’fh oc' ' -

a:"Lk ,b-‘—"qk ?g.sﬂ-k‘ |

L)

3

Puktting values o{lva,b and ¢ 4n qi‘iven eq uakion.
v | 4

')L?’ "'3_3 +2 E. Yy 2z
a3 b et abc
By + L3 = S

L1 Jﬂ"-“f A2 Ak-yk -zl -

l {—_l__ £ 2 ?7"‘:11 |
% LLB___ > l»(,lLl(_[_?Uj'Z) l
ol 1wl | = 3z |
T s

_L,_tl +1 L =

k> = |
3' = I3
> %)

Henwe , L-H.S zR-H.S.
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Q. No. 2 (vi)

Colution :-

-2 = 3]{_-—2'

') A (22-])

2U -2 = A’ R B - @)

1(21—0 A 2o — |

MDL,U'ipbj{an both sdes by w(2x-1).

In-L= A(2o-I) 4—'3(74) — (u

W =le LAw-A & Bl

B2 AR B —N

M-2=(2A+BI- A — D)

put  On-l:0 = wel s 4
2

S B CTS T Y )

4
z

2 2= p(l4) +.8 )

o)
+ compowing coeH\‘chm o(, .
3=% .8 %8 % IR B .
= 322 Aol
- = B 3-2h-|
2= 3xl=24A
~1:28 H=2A
B-—-—_@f_( A 2 A= Y2
<5 ‘ =\
e =y
L@""i L_i_L .

Iw-2 - < x )
[ 2a-\) n 2w
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Q. No. 2 (vii)

U= §0,62,3,4)ci¢... I

A—,i}— ov d)

B-,%[) Z)E)ng,é?r \
(@) K’

,fOl;- U"*A

= %{Jo) 2.3 .l. :(—%?
= ‘%l o,l,zJS,%..jr = U A

S’o[:—
Bz UD-B

(&) (AUB) = ANB] (DC“M""?'W L"""')
L-H-s L (aus )’
" 8% NS e
‘il 1,1',5,&45,[(3,.....}. ]
e AUy  U- (kus)
. i Bk 5B b § = | 12)2,.5,7.

=2

®
S

i

\U

AU_&)_ 0o =1 |
R-H-S |
ﬁ B, L2, 3.4 ---"J(:U rpvowiol o (a))
‘<cﬁ “(provedipy]
kel $0,,2,94. .. T 036} il |

| 5 i1l Ll o e
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Q. No. 2 (viii)

Q)

X = cﬁ- l) 233)Lf)51(
C =)

Y9 8,287,471,
I i

T ————————

o) (X xY)

(X 2 X) ﬂ(\m, (13 (LS LT (1L, (2.2) (2,3)

] (2, S) ,(_2;{) : {?-)Q)'(3)2-)} ( 3,3)/ {333,),
(3451) ¢ 3,9) (0% (4,3) 4,5 ), (M, 7Y (M43

(5,29 2 3 3D ( 5)5_(). (__S)')) (\S)Q)}

(c
| W~

-y

o= S(08 ) [%E), Fanlc
L 7 .

e
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Q. No. 2 (ix)
|
Clok Ut 1§ X | e % || Ploan
dJ i U
y—|¢ Lo 5 06399 |lo@yo 6139 = 698
T |4 &0 g O- 90309 20y o0-9p3o _ |90
L & ) T G ] o0 | | 13¢1oas =135
WYL [ 1Y L-le| | | Txl-We = gp027
|
€ .So | &
, |

_%Q) E.fl—: lo + 20 1+\'3 +7]

ZF. 50

(D) £flogx= 6:968 + D06 413.5349 4 30127

21\’/{0%»{:‘ Ut €874

(€) G-t Mnbilog {\ZEQO‘}[\:(’\ |
i| |

&M= Antilog [Y6.€37¢ )
J < d |/ |
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Q. No. 2 (x)

(ben @ +cot @) (cos@ + sin@) = tec @ 4cprec Q-

L-®-S

y [Sfﬂ S C,DSLQ-’\ (cos& +an&/)

Kc’og@’ S‘\h&/

[ svn@ + Le'8 \ (C,DS@ SEba 9)

( SintS naﬁsbai\
o

[ j— \)(Cof@-—f fin g ) )

(CDE@'°S'I.K\(9'
% /

wiB + Sn@

cos Q-sin

= s & lnd

0O in® conQuikl

2. eorBs 1, %

| fec©
A + U
fin& Cos & fin 8= _L
K Cotec (@ J
= cesec©

Cee O + cofec@ = R-H-¢
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Q. No. 2 (xi)

T LA MARD
thekbt e/

/bl Ao 2B
Y ///

C
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Q. No. 2 (xii)
hﬁ'%:m&'-- h—T
ra N

= L
U gl A
R s

)
Sf’i‘lgf\ Y

Two tanaedts PR and PE ov@ deawn fom an externod
IP:)t'mt Pquo a _avde with tentce O
Tg Prove:- .
Pk =mPB
COY\S“TUOHDI\:-
Torn © to P and 40 A and B.JSo ue hawe & Lyt
_OAP ond ORP

Proof - Catement Reaton |
T~ AOAP — A OBP
m L ORP - m (ORP & LPh (qiven) each 40" |
huo.m -O—E :‘%\tﬂgf_) COYYIM OF)
i MoA = mE)—B Roolt 0{— tame@ Gydde
0 AOAP 2 L BAORP H-8 =2 H.S
B g
m PA = mPB L covverp moking sided o{" }
(Tounq entft E)Tﬂ!’ o~ (3_-?0'%2, WQW+ U-l-v{am ol eq
|\ equal in leasih) ‘ - 2
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* Q. No. 2 (xiii)

go(gﬁtsn:-
In ('_rtA A oWV
Q\a zpd\’rlnouzavcw the svon,
\f\o\ = (P\M) +(OM)*
A2y ™= (M) 4 (S)©
W3- ()% (kM) *
169 — RS_4AM)

MY - (Am) ©
TOlJ.‘ud\ raf,x,mme woo+ o both .no[e,s‘

R AY Y

m A =12 cm.

we  lnow thak
(@ O™ LAB

_@) " L BOM = | "
Lonl® - %[L m BM, aps

) MOM bou:,e/

\ F

B = tan % (2
E
T & v ]

Bl L fan-' (2-‘4)

&< 6138°i
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Q. No. 2 (xiv)
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(Section C)

Q. No. 3 (Page 1/2)
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Q. No. 4 (Page 1/2)

SO(AL\*\_-QQ‘.- :
Lhéj-_ - F % BvL+C,_ 4 D)‘Li'i"':j —9@
(o0 L) (1) = b (Lnh)®

|

Mdtiplying both sidet by (1) (\en*) "

U= AV 4t)” +(BRAO) (1) (Len™) +(DWAE) L) (i)
Y= AL g o4 2t) (B[ 140) o (L) ]+ D% (1) +

N T

E (1-x) |

R P TS +lkil+£%A+C/)‘:l +11_x—1@1 +: DA —Du*+E -
Ex :

U= A+ Ay +1Ax’+Bx(l+x“—x—x’a)1—C( U= x-%2) +
Dx -Dt 1 E-Ex I !

Uz A4 Aw” +2A%> s B + 8% B o Bt 04 Cw™ o =
(> + DA-DL+E-Ex |

Uy s A2y 4 VR Ct® 4| 2IA 2B (e —Dy?p B
~C« +Du-Ex + A+ C t E

W™= (A-B)wd T2 (BHCYEE + 4> 2A-B 4+C-D) +
A (B-C+D-E\ + A+ C+E — - ¢iil)

put |L4%=0 o [-e=- =] k=l o eg|(id.

1§

M= R (Gen?) ™ 4 BAU (1) (L) H{DWAE) (1-3),
Y= A (L+ l")l" HBL+O( =) (L +L™) HD+E)1-1)

UiNT= A+ + 0 O |
Gl 2a% | Ll K 1 5\ |
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Q. No. 4 (Page 2/2)

U= pU)

e W
L‘

A=l

Com!) M’ﬂqJ coeﬁgidenh o‘f YA ,\ CDY"’LFO—'-iﬁﬂ Coe{l{{cenJr 0\19 o

p- B0 | B+C -0

\-B:-0 \ \+C=z0O

73 =p| | & el
B-1 {
\

C,omJ‘Dcuincj coe C,-(Sc.am’rs 0.?%1' y

Compauing coel: cients of‘J e
2A-% +C-D =M

B-C+D-E =0

\
[
!

Sry—"L- =t L4 §4-E =0
2L <f D) Bl 1) =Y -3 -Exb
2-1-1-bD=-\Y -2-E :0
g~ o = = -E =2
—D =\ [ =i
D -1 |
pubing, volus of b.8,C,D and € dn (D
! Yo > ’ - A + But+C + DU+E
(1)) * L -2 | 4+v> ARe Vi
N il ™ = 1+ (- + (DO%-2
()1 awryt | 1% | +n> (L exy™
T I S e L T )
U= T " = e N ( twy ©

An> s \ & w-) - (4w +2)

=




21 -L?Luﬂ.‘:.u&ﬂ%m.; .5.,/ IJ:; AR K ke

e
Q. No. 5 (Page 1/2)
Data :- A
Haqhi o@ hq\n’t house =m AD = 300m \ 30 / /n\
anlo. oﬁ dﬂo«wtm ave 30 ond US” ‘W\/V y
Ye@pwhvda 7 | 300m
DtS’ranu beﬁuﬂ’—h booatr=m BC = ? / / w I
Boat&oﬁ(eczf-po.mﬁ B anO( C_. /
S olukion :- b/\,% )/ }‘m-
Gince LD 'amel 0B hod B D gt
LCyHence £ B=30 gnd L C=Y(C> | how e
>Tn Ly AAcD, |
ton 8#=P - 0 mAD |
b AED
ban (US°) = 300
m CP
m@: BQ_i |.
tan 4§ |
m'C:D'_ - 3200
- 1
mMmCD = B.OO m |
T Urk ARCD, O s 30
tan®= P - m AD
b | mBD . BD=m BC +mTD
Jan @ . m AD




=_E Nle
uaﬁi The relevant question should be answered only in the allotted space and inside the outer mark

" St
20962178

Q. No. 5 (Page 2/2)

Y /<

Nz

D.§773 = 200

ymBC+300

0-¢T mBC +300) - 373D

O0€773

A18C l+300:> &5||19:4

el - 4= @)

mBe_L = 2\q-é}'€'4 220 roO

Honw the distance behueen the twe boads will be

mBC=220m .
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Q. No. 6 (Page 1/2)

If twe chovds of o vrde ave conayuen{- then pyove

thq.l: they vl be equicisdant={rom 1he centre.

Figuie . AL N

Given :- N,

Two *chords (l a evcle AB and EDi,m a circle
with centre O Cuch thak oH 1 blr?—d:*ov 1o A—B
ond oW L bireckor ko (D (m AB=ym QD)

To Pyove :-
M OH = n OW

Constyuction - |
Toin O to A and 0 %o C so we howe £t A

AOH and COK rmpechvdﬂ |

Proof :- |
" Qtatement R eousovis
DH biseds chovrd E OH Lbisector bo AB ( Given.
e AR = | mAB (f)
2
Q‘__LL bisech chovd ) ﬂib"fe“—iirz"’ to E—B(G{«en)
e K= L mCD (v | i
™ :

mBAB =wmCD 2ii) Given. ‘
MAH - wm I UV) UA'f\jH! {dl anr»lg\t'i\')
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Q. No. 6 (Page 2/2)

The relevant question should be answered only in the allotted space and inside the outer mark
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20962178

T AofAH

«— Ao

h'-m ok = hu,p oC

Radil o@ fame circe

mAH e C,lL A\vaad«g onweo' wn (V)
Hﬁ;nce. AokH 2 Ao WS ¥ HQ (RS q)osuaie_\.
—- ™M oK | CDfY‘%?md-ing st o,?

Lo aé/\.uen’r ‘*YiQna\e/t.

J_E_L__@L
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Q. No. 7 (Page 1/2)

__Prove that #e meaure 0('- cenbved anglt of minor ave
of o cirde & douwble the angle mbl'end.hd bw majoy oot

FL% we -

AN

WA
W20V
A\Qk

"‘)S\\Ie,n -

A arde with wntre O cuch H’\a,t AB s Hhe, mMin or
arcC -whevear v & ADB is CM'}YU—D\ (.lquL Omd
M <& ACB 4y the Civawmn CLnCyLQ
— To Prove :-
m < AOB=2mcACB
Congdvuckion . - |
Popett—C J0in C Lo O which weets Ptrig @ at D.
label amales €l 5L2,43,04,¢€ and ¢6.

O

Sdatements R e oubony
AB ic the are,mepoBis| Cwen * |
centrol angle &ubtenced .

S =S
mLl=mce3 ' D Anﬂ[eo o‘opo!ijf'e to COUJ.a.\ sidenin
A AOC | |
ML2 = LY (l.l.) Angles op Po&’l’léi.—\c equol sedes

un ABRo(|
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Q. No. 7 (Page 2/2)

mesewmelomed i) [edero! angle uy dne
MmE_wm<l2 +miY (iv) cum AN intedor adjacont Om%((u.

Mm&ES =2 ame32-2mi ) Usmg i) and (ii'\)

m—lb- mLY +m LM = 2m <Y (Vi) L,lQir\f\’ C\\’) CV\O((NJ

MmLiSmib=2m L3 + 2w Y Add*”ﬂi’) and (¥i) |
MLAOB = 2 (mLl3+m L“-l)
w £ AOCB = 2 mZACE Fyom 'Ff%uwe

Hen ce . proved.-
1
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s , . [ 4]
= T i
! I T O 0 O T T
L] ch e A ol
e [ | I O 3
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.M S = W 0 B A W
5 o | 5 0
e F u
- 13 K ] 0 D 5
ﬂ = _ :
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S
3
rﬂ.u
i

i

1

e e
1
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L . Y O |
’ =] i il .
|

L5
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% O H e o B B
i = |
‘ Lt
1 1 el
5
: = s i
] T O
3 N | |
P 5 K -
- S - o a ) |
g 1) A Vbt
= [ u
= | . . i
== .
1
. | . .
|
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Rough Work 2




